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GUJARAT TECHNOLOGICAL UNIVERSITY

DIPLOMA ENGINEERING — SEMESTER-V EXAMINATION —Summer- 2019

Subject Code: 3350602 Date: 10-05-2019
Subject Name: Concrete Technology
Time: 02:30 PM to 05:00 PM Total Marks: 70

Instructions:

Q.1

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.
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Answer any seven out of ten. £zl SIHURL AUldll syAloL LUl

Write Full form of C3S, C.S, C3A, C4AF.

Y2 " @Ul.- C3S, C2S, C3A, C4AF.

Find target mean strength of M-20 Grade Concrete having standard deviation
4.0 N/mm?.

M-20 33 51512 ox<l UHL[BLA [A2e4 4.0 N/mm? €9 dl 2219 Q& A 1AL,
Write specific surface area limit for OPC and RHC.

OPC st RHC H12 2U{l[55 U5 21211 dldlz quil,

Find Water requirement in “ml” for setting time test and soundness test if
standard consistency is 32% and amount of cement taken is 400gm.

oxl 22188 seddluzzil 3206 vid [AH2 o Aoy 400gm siA dl A2l 2190 222 i<
UG 222 Hi2 ov3<] uLeile umiel Hldldl22 wi il

The width of slot in thickness gauge for aggregate size 20mm to 16mm is

mm

21901202 U152 20mm 4l 16mm Hi2 #dlsd Aoyl 2alzdl Ui ... mm
£,

Find equivalent standard cube strength for sample whose standard cylinder

strength is 21.4 N/mm?

AL UHUBLA A0USIR A4l o A 21.4 N/mm? S dl AHUHIBLA 2401 A1He
24l

Find tensile strength (Split) for a standard sample having failure load
P=200kN

22ledd 1El2 2egled Al AHALAL 3R dls P=200KN 9. dl 26|z 221 UM AL
Define Polymer impregnated concrete
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WlH2 H¥U2E sigledl carval 2410

Write anodic reactions for formation of Fe(OH)s in corrosion of

reinforcement.

ollUAL 5201991 Fe(OH)s <UL 5122 HI2 2Adléls <atsaq avil,

Define synopsis of a research.
g Avl 25 AR UHAMA,

Explain compressive strength test of cement.
(442 HI2 s1FU[RIA, 228 222 A1,
OR
Explain crushing value test of aggregate.
2192 H12 seila 4@y 222 UumAl,
Explain slump test to find workability of concrete.
sigl2-l d5oilelZ] allaal Wiz 2a¥u 222 dHmal,
OR
Explain compaction factor test to find workability of concrete.
siglecl dfolldlZ] elidal HI2 siHUsaA 5522 222 Al
Write and explain process of making concrete.
51512 otelladl Hieedl ughld dvil vid A,
OR
Write and explain factors affecting durability of concrete.
551241 25161UBLL U 2UR 52d1 ULIO0UL AV 24 BHMAL
Enlist special concrete and explain any two.
gl siglel A vl e SIHUBRL 6L HHMAL
OR
List material and methods for repair of cracked concrete.
[AR1¢ ua 51512l HAHA HI2 6r32L UM i UghlA Al M Quil,

Enlist types of cement.
[AHZAL U512 Al AlH v,
OR
Explain hydration of cement.
[z Slga uHmAl,
Enlist admixtures with it’s uses.
WEHIA2 Al Ald ddl GUAIRL U1 QUi

OR
Explain plasticizer and super plasticizer.
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wlZzuldorR vd YualZauiderz uHmdl,

Define workability. Enlist factors affecting workability and explain any three.
Q5O 1Z1eAl v 2L el dell UR 2447 5241 ULl QUL 24 516 UBL Bl
R

For following data of sieve analysis of sample 500gm, tabulate % passing and
find fineness modulus.

SIEVE 10 4,75 2.36 1.18 0.6 0.3 0.15
SIZE - mm
0 12 55 62 90 175 106
WEIGHT
RETAINED
gm

(2 syouad (e sidiclzil i sadisdidl % widlo Hiz 2oid oldldl ldqadu
HILLEY 2L AFUGs] A5y« 500gm 9.

Ala 21dsy 10 4.75 2.36 1.18 0.6 0.3 0.15
DYDY
PR E2 0 12 55 62 90 175 106

ALK

With following observations of compressive strength test, find mean strength
and standard deviation.

24,23, 21, 25, 27, 24.5, 23.5, 24, 25 N/mm?

(A2 syouad s3UXla w2ed 2224l 2Adlsd HI2 12319 UM, 2 UKL [Aaa
24l

24, 23,21, 25, 27, 24.5, 23.5, 24, 25 N/mm?

Find quantity of coarse aggregate and fine aggregate per m* of concrete as
per IS 10262: 2009 using following data.

C=400 Kg, W= 200 lit., Volume of C.A of total aggregate = 0.6, Specific
gravity of C.A = 2.73, Specific gravity of FA=2.71

(2 sronda Hilsdl uzel 1S 10262: 2009 UHLEL 514 2AY1312 24 5154 wigiloled]
YHLEL 2.

C=400 Kg, W= 200 lit., Volume of C.A of total aggregate = 0.6, Specific
gravity of C.A =2.73, Specific gravity of F.A=2.71
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